Quiz 2 Caleulus 3 11/4/03 s

Each problem is worth 5 points. For full eredit indicate ¢learly how vou reached vour answer,

1. Give parametric equations x(t), 1), and bounds for ¢ that produce a line segment from (3,-2) to
(1,7).
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2, Give parametric eguations x{¢), p(¢), and bounds for ¢ that produce the third-quadrant portion of
a circle {centered at the origin) of radius 5, traversed counterclockwise,
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3. Plot the vestor feld F(x,v) = <-x,2y> lor the points (0,1, (3,1}},_{“] ,Il‘;;l _:Itnd (-2,2).
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